DIVISION

Help Code : 004

Write the missing number.
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Here iz a numbar pyramicl.

The numbarin a box is the product of the two numbaess below it

Write the missing numbers, YEE

22.5

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino ~/
Activities, Self-Marking Papers, One Page Wonders and new Tutorial T

videos for last Summer’s SATs. Try it free press here!



https://www.youtube.com/watch?v=Cjx8lDSH2cE
https://www.youtube.com/watch?v=HllLV9wJCRw
https://www.youtube.com/watch?v=Fn73bBjXqPw
https://www.youtube.com/watch?v=V5rJdRaBhnQ
https://www.youtube.com/watch?v=HGWg20IUu5U
https://www.youtube.com/watch?v=mmBOgnDWSkk
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
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https://www.youtube.com/watch?v=pGxxVJTo0z0
https://www.youtube.com/watch?v=Z_ZImn_WPjE
https://www.youtube.com/watch?v=L32MjS63cOI
https://www.youtube.com/watch?v=RjBCEJ2Mda4
https://www.youtube.com/watch?v=__ZG7CxxT80
https://www.youtube.com/watch?v=E_YsisY5dQ8
https://www.youtube.com/watch?v=NEuyFy774OQ
https://www.youtube.com/watch?v=XQAXuiCljW0
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2012A KS2 Ql12b

Calculate 816 + 24 2013A KS2 Q19

Cheddar cheese
82p for 100 grams

Edam cheese

Show 66p for 100 grams

your
working

Cottage cheese
45p for 100 grams

Seb buys some cottage cheese for £1.35

How many grams of cottage cheese does he get?

N\

e g
@& Calculate 144 + 6 2012A KS2 Q14

N
Y . Write the missing number to make this calculation correct.
iﬁb Calculate 544 3+ 32 2011A KS2 Q21 Y&E

Nk = 1111
Show
your
working 2010A KS2 Q23

Eﬂ! Calculate 48 + 3
N\

2009A KS2 Q7
Y
Caleulate 364 = 7 2008A KS2 Q13 YR!! Caloulate 504 + 21

N\

Show
your working.

You may get
amark.

Y .
Calculate 56 + 4 2005A KS2 Qb

\ 2007A KS2 Q20



https://www.youtube.com/watch?v=8mGGp5jLjxo&index=7&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ
https://www.youtube.com/watch?v=NaH8jXC5L1Y&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0&index=6
https://www.youtube.com/watch?v=NF1AbwsgaF0&index=18&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV
https://www.youtube.com/watch?v=hQKH6mZMFzQ&index=4&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=e99pVVnGjz0&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi&index=14
https://www.youtube.com/watch?v=gIwm4VOpo1c&list=PLS3PH82bo0VD3wOBNNCYB2d5Se1GGVyyI&index=20
https://www.youtube.com/watch?v=2qDxq2D8Cpg&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy&index=12
https://www.youtube.com/watch?v=wPnDAbXFn_E&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=5
https://www.youtube.com/watch?v=J1bGGh35s3I&index=11&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi

% Here is a CD rack.

2006A KS2 Q4

One rack holds 25 CDs.

David has 83 CDs.

How many racks does he need to hold all his CDs?

ﬁ Calculate 848 + 16

Show
your working.
You may get
a mark.

2006A KS2 Q22

Alan has 45 beans.

He plants 3 beans in each of his pots.

2004A KS2 Q6 %

How many pots does he need?

\

pots

% Calculate 900 + (45 x 4)

A packet contains 1.5 kilograms of guinea pig food.

Remi feeds her guinea pig 30 grams of food each day.

Each brick is 12c¢m long.

Martin makes a line of bricks 132cm long.

How many days does the packet of food last?

Show
your working.
You may get

E Calculate 924 + 22
\

Show
your working.
You may get
a mark.

a mark.

days
Write in the missing number. YE%
2003A KS2 Q22
Y50 =+ = 25

Calculate 847 ~ 7

2001A Ks2 Q11



https://www.youtube.com/watch?v=V8lyeu35Dfk&index=20&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt
https://www.youtube.com/watch?v=JngklusP3mY&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=5
https://www.youtube.com/watch?v=U8rEOT8TrmI&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=16
https://www.youtube.com/watch?v=7I-2wKxldOE&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=8
https://www.youtube.com/watch?v=YYefvDaNQTA&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp&index=3
https://www.youtube.com/watch?v=9RqihUd-z6A&index=20&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=WMUReV2tYAQ&index=5&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=56xAqbAJ1ao&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt&index=2
https://www.youtube.com/watch?v=55eFJeuCP_M&index=15&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl

2000A KS2 Q6 a

R

A shop sells batteries in packs of four and packs of two.

-
2 hatteries

A

=

\ 85p

Simon and Nick want two batteries each.

They buy a pack of four and share the cost equally.

How much does each pay?

N\

Show
your working.
You may get
a mark.

i



https://www.youtube.com/watch?v=uCZ7sHoP9uk&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r&index=18

